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adunarauysal = ABS(x)
f10819 ABS(-25) X 25
ABS(25) = 25
Hadun LOG = LOG(X)
#2001 LOG(1000) = 3
ladud munniiga - MAX(x1,x2,X3,.....,xn)
f10819 MAX(12,5,7,8) = 12
HaFun onfda = POW(x,y)
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#ladun cos = COS (x)
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@ Rule; Selectl

If LiquidType = Newtonian
Process. Type = Blending
Product. Type = Miscible
Design.method = ByLiquidProperty

5000 < Liquid.viscosity > 50000
Hypothesis; = AGl

Then do
Action Method “Path3”

@ Rule; Select10

If LiquidType = Nonnewtonian
Process.Type = Emusion
Product. Type = Immisiscible
Design.method = ByLiquidProperty

5000 < Liquid.viscosity > 50000
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Hypothesis;  AG10

Then do

Action Method “Path9”

@ Rule; Select]

If LiquidType = Newtonian
Process. Type = Blending
Product. Type . Miscible
Design.meth:od = ByLiquidProperty

5000 < Liquid.viscosity > 50000
Hypothesis;  AGI

Then do
Action Method “Path3”

@ Rule; Select10

If Liquid Type = Nonnewtonian
Process.Type = Emusion
Product. Type = Immisiscible
Design.method = ByLiquidProperty

5000 < Liquid.viscosity > 50000
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Hypothesis;  AG10
Then do
Action Method “Path9

@ Rule; Selectl

If LiquidType = Newtonian
Process. Type = Blending
Product. Type = Miscible
Design.meth;)d = ByLiquidProperty

5000 < Liquid.viscosity > 50000

Hypothesis; AGl1

Then do

Action Method “Path3”

@ Rule; Select10

If Liquid.Type = Nonnewtonian
Process.Typg = Emusion
Product. Type = ~Immisiscible
Design.method = ByLiquidProperty

5000 < Liquid.viscosity > 50000



@HYPO; CVIS2)
Then do
Action Method "ProcessVis2"
Else do
Inherit Hypo “CVIS3”
@RULE; RVIS3
If Liquid.Type = "nonnewtonian"
@HYPO; CVIS:3)
Then do

Open window "resultl.input2"

Liquid.viscosity = Appearance.viscosity

@RULE; SideEnter

Liquid.viscosity < 500

Process.Type

IAgiFator_TypeI .Type
Inherit HYPO “TCAL1”
@HYPO,; SideEnter

Then do

"Propeller

"Blending"

104
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Hypothesis; AGI0

Then do

Action Method “Path9”

@ Rule; Select11

If Liquid.Type = Nonnewtonian
Process. Type = Emusion
Product.Type = Immiscible
Design.meth;)d = ByLiquidProperty

5000 < Liquid.viscosity > 50000

Hypothesis; AGI

Then do

Action Method “Path7”

@ Rule; upl01

If Execute Hypothesis  “AGl”

Agitator_Type.Type = “Helical”

Hypothesis “upl01”

Then do

0.9

Impeller.RTratio



@RULE; select16
If Design.method
Select.name
Liquid.group
Hypothesis;
Then do
Action Method
@RULE, Select17
If Design.method
Liquid.group
Hypothesis;
Then do
Action Method
@RULE; Select18
If Design.method
Liquid.group
Hypothesis;
Then do
Action Methoh
@RULE, select2
If Liquid.Type
Process. Type
Product. Type
Design.method

Liquid.viscosity

"ByLiquidName"

"Natural_Rubber"

"Rubber"

aglé

"Path3"

"ByLiquidName"

IIBLEN"

agl?

"Path]"

"ByLiquidName"

"SOLUTE"
AGI38)

“Path7”

= "Newtonian"

= "Emusion"

= "Immiscible"

= "ByLiquidProperty"
> 50000

106
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Hypothesis; AG2
Then do
Action Method "Path7"
@RULE; select3
If Process. Type = "Blending"
Product. Type = "Miscible"
Design.method = "ByLiquidProperty"
Liquid.viscosity < 5000
Hyopothesis; AG3
Action Method "Path5"
@RULE; select8
If Liquid. Type = "Newtonian"
Process. Type = "Blending"
Product. Type = "Miscible"
Design.method = "ByLiquidProperty"
Liquid.viscosity < 5000
Hypothesis; AG3)
Then do
Action Method "Path7"
@RULE= upl

If Execute Hypothesis “AG1”

Agitator_Type.Type = Anchor"

Hypothesis; upl

Then do
Agitator_Type = "Anchor"
Impeller. RTratio = 0.95

Execute Hypothesis “AnSpeed”



108

@RULE; LPtype3

If  Liquid.viscosity > 5000

@HYPO; vis5

Then do

Liquid_Property. Type is "LowViscosity")

@RULE; LQl

If LiquidA..volumn LiquidA..volumn

LiquidB.volumn LiquidB.volumn

@HYPO,  LQI

LiquidA.volumn+LiquidB.volumn Liquid.volumn

LiquidA.volumn/Liquid.volumn = XA
LiquidB.volumn/Liquid.volumn = XB
Then do

Inherit HYPO “Denl”

Inherit HYPO “CVIS1”

@RULE; RDenl

If LiquidA density = LiquidA density

LiquidB.density = LiquidB.density
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LiquidB.density = LiquidB.density

@HYPO;, Denl

Then do

LiquidA density x XA+LiquidB.density X XB = (Liquid.density))
LiquidA .name = "LiquidA"
LiquidB.name = "LiquidB"

(@RULE; RVIS1
If Inher;t HYPO “LQI”
Product. Type = "Miscible"
Liquid. Type = “Newtonian"
@HYPO; CVIS1
Then do

Action Method "ProcessVis]"
Else do

Action HYPO “CVIS2”

@RULE,; RVIS2
If Product. Type = "Immiscible"
Liquid. Type = "Newtonian"



@HYPO; CVIS2)

Then do

Action Method "ProcessVis2"

Else do

Inherit Hypo “CVIS3”

@RULE; RVIS3

If Liquid. Type = “nonnewtonian"
@HYPO; CVIS3)
Then do

Open window “resultl.input2"

Liquid.viscbsity = Appearance. viscosity

@RULE; SideEnter

Liquid.viscosity <

Process. Type =

|Agi_tator_Type|.Type
Inherit HYPO “TCAL]”

@HYPO; SideEnter

Then do

500

"Blending"

"Propeller"

110
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Impeller.Idiameter = 0.33*Impeller. Tdiameter
Impeller.Clearance = Impeller.Idiameter
Action Method "CalShaft"
Action Method "PHSpeed"
Propeller.name - "SideEntering"
Action Method "clearP"
Inherit HYPO “Tpro”

Else do
Inherit HYPO “TopEnter”

@RULE; TopEnter

If Process. Type = "Blending"
Liquid.viscosity > 500
Liquid.viscosity < 5000
Inherit HYPO “TCAL1”

|Agitator_Type| Type = "Propeller"

@HYPO; TopEnter)

Then do



' Impeller. Tdiameter

Impeller.Idiameter

Propeller.Clearance

Action Method "PHS peed"”

Propeller.name =

Action Method "clearP"

112

0.33XImpeller. Tdiameter

0.167

"TopEntering"



ﬁ’aadn’jﬁmsﬁﬁﬁm (Method)
@METHOD= Bafflel
Propeller.baffle "not_required"
Execute Hypotheses "PPropeller]"
@METHOD=Baffle2

Propeller. BaffleWidth

0.1*Impeller. Tdiameter

Il

Propeller.baffle "FourBaffle 0)
Execute Hypothesie "PPropeller1"
@METHOD= Baffle3
FlatBladeTurbine baffle = "not_required"
Action Method "CalBlad"

@METHOD= Baffled

FlatBladeTurbine BaffleWidth =0 ] *Impeller. Tdiameter

FlatBladeTurbine.baffle "FourBaffle"
Action Method "CalBlad"
FlatBladeTurbine. wwidth = 0.2*Impeller.Idiameter

@METHOD= CalBlad

113



114

FlatBladeTurbine. wwidth = Impeller. Idiameter*0. 1

nBlade ' = 0.5*Impeller. Tdiameter/F latBlade Turbine. wwidth
Execute Hypothesis "Flat1" ‘
Execute Hypothesis "Flat2"

Execute Hypothesis "Flat3"

Execute Hypothesis "Flat4"

Execute Hypothesis “Flat5"

Execute Hypothesis | "Flat6"

@METHOD= CalPBlad

PitchBladeTurbine. wwidth = Impeller.Idiameter*0. ]

nBlade = 0.5*Impeller.Tdiameter/PitchBladeTurbine.wwidth
Excecute Hypothesis "Pit1"
Excecute Hypothesis "Pit2"
Excecute Hypothesis "Pit3
Excecute Hypothesis "Pit4"
Excecute Hypothesis "Pit5"

Excecute Hypothesis "Pit6"
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PitchBladeTurbine.Clearance = Liquid.volumn*4/(POW (Impeller. Tdiameter,2)

@METHOD= CalShaft

Propeller.Lshaft

@METHOD=clearP

Propeller.Clearance

@METHOD= FHSpeed

*3.1416%6

Impeller. Idiameter

= Liquid.volumn*4/(3.1416*6*POW (Impeller. Tdiameter,2)

FlatBladeTurbine.Speed = 83.3/Impeller.Idiameter

Action Method

@METHOD= GMSpeed

Paddle.Speed

@METHOD= HeSpeed

Execute Hypothesis

Helical.Speed

"ReyFlatBlad"

= 33.95/Impeller.Idiameter

IITCALII

= 450*0.3048/3.1416)/Impeller.Idiameter

Action Method "ReyHelical"
@METHOD=P10pitch
PitchBladeTurbine.Power = (POW(0.707,2.5)*23.7*(Liquid.density*62.43)*

POW((PitchBladeTurbine.Speed/60),3)
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*POW((Impeller.Idiameter*3.2808),3.91)

*POW((PitchBladeTurbine.wwidth*3.2808),1.09)

*(POW(1.67,0.7))*1.3558/(1000*32.2))

Open Window "Result].Product9"

@METHOD= P16Blade

FlatBladeTurbine. Power

Open Window
@METHOD= P16Pitch

PitchBladeTurbine. Power

= (23.7*(Liquid.density*62.43)

*POW((FlatBladeTurbine.Speed/60),3)

*POW((Impeller.Idiameter*B.2808),3.91)

*POW((FlatBladeTurbine.wwidth*3 .2808),1.09)

*(POW(2.67,0.7))*1.3558/(1000*32.2))

"Result].Product6"

= (23.7*(Liquid.density*62.43)
*POW((PitchBladeTurbine.Speed/60),3)

*POW((Impeller.Idiameter*3.2808),3.9 1)

~~*POW((PitchBladeTurbine. wwidth*3 .2808),1.09)

*(POW(2.667,0.7))*POW(0.707,2.5)*1.3558/

(1000%32.2))
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Open window "Resultl.Product9"
@METHOD=P2pitch
PitchBladeTurbine. Power = (POW(0.707,2.5)*19.4*Liquid.density*62.43)
*POW((PitchBladeTurbine.Speed/60),3)
*POW((Impeller.Idiameter*3.2808),3.85)
*POW((PitchBladeTurbine.wwidth*3.2802),1.15)
*1.3558/(1000*32.2))
Open window | "Result]l.Product9"
@METHOD= P4pitch
PitchBladeTurbine. Power = (POW(0.707,2.5)*23.7*(Liquid.density*62.43)
*POW((PitchBladeTurbine.Speed/60),3)
*POW((Impeller.Idiameter*3.2808),3.91)
"‘POW'((PitchBladeTurbine.wwidth*3 .2808),1.09)
*1.3558/(1000*32.2))
Open window "Result].Product9"
(@METHOD= P8pitch
PitchBladeTurbine. Power = (23.7*(Liquid.density*62.43)

*POW((PitchBladeTurbine.Speed/60),3)
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*POW((Impeller.Idiameter*3.2808),3.91)

*POW((PitchBladeTurbine. wwidth*3.2808),1.09)

*(POW(1.33,0.7))*1.3558/(1000%32 2)

*POW(0.707,2.5))
Open window "Resultl.Product9"
@METHOD=PAnchor
Anchor.Clearance = 0.08*Impeller. Tdiameter

Anchor.wwidth = 0.1*Impeller.Idiameter

Anchor.BladeHigh = Impeller.Idiameter

PAI = POW((Anchor.Clearance/Impeller. Tdiameter),-0.3 1))

PA2 = POW((Anchor.BladeHigh/Impeller Idiameter),0.48))

PA3 = POW(Anchor.Speed/60,3)
*POW((Impeller.Idiameter*3.2808),5)
*Liquid.density*62.43

Anchor.Power = 85*PAI*PA2*PA3*1.3558/(Anchor.Reynold*1 000%*32.2)

Open Window "resultl.product4"

@METHOD= Pathl

Piority.One = "Propeller”



Piority. Two

Piority. Three

Open Window

@METHOD= Path2

Piority.One

Piority. Two

Piority. Three

Open Window

@METHOD= Path3

Piority.One

Piority. Two

Piority. Three

Open Window

@METHOD= Path4

Piority.One

Piority. Two

Piority. Three

Open Window

In

"PitchBladeTurbine"

"agk.piority"

"Propeller"

"PitchBladeTurbine"

"agk.piority"

= "Anchor"

= "Herical"

"agk.piority”

"PitchBladeTurbine"

= "Anchor"

"Herical"

"agk.piority"
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@METHOD=  Paths

Piority.One

Piority. Two

Piority. Three

Open Window

@METHOD= Path6

Piority.One

Piority. Two

Piority. Three

Open Window

@METHOD= Path3

Piority.One

Piority. Two

Piority. Three

Open Window

@METHOD=Path8

Piority.One

Piority. Two

= "Propeller"

"FlatBladeTurbine"

"Paddle"

"agk,piority"

= ""FlatBladeTurbine"

"Propeller”

Il

“Paddle"

"agk.piority"

"Helical"

= "Anchor"

"agk.piority"

= "PitchBladeTurbine"

= "Helical"

120



Piority Three

Open Window
@METHOD=Path9

Piority.One

Piority. Two

Piority. Three

Open Window
@METHOD= PEightBlade:

FlatBladeTurbine. Power

Open Window
(@METHOD= PFourBlade

FlatBladeTurbine. Power

121

"agk.piority"

= "PitchBladeTurbine"

"PitchBladeTurbine"

"Anchor"

"agk.piority"

= (23.7*(Liquid.density*62.43)
*POW((F latBladeTurbine.Speed/60),3)
*POW((Impeller.Idiameter*3.2808),3.9 1)
*POW((FlatBladeTurbine. wwidth*3.2808), 1 .09)
*(POW(1.33,0.7))*1 .3558{(1000*32.2))

"resultl .product6”

= 1.38*Liquid.density*62.43
*POW(FlatBladeTurbine.Speed/60,3)

*POW(Impeller.Idiameter*3.2808,3 17)
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*POW(FlatBladeTurbine. wwidth*3.2808,1.23)

*1.3558/(1000%32.2))

Open Window “result].product6"

(@METHOD= PHel

Helical.Clearance 0.1*Impeller.Idiameter

Helical .Pitch = Impeller.Idiameter

Helical. wwidth = 0.1*Impeller.Idiameter

Helical.BladeHigh = Impeller.Tdiameter

PH1 = POW(Helical.Clearance/Impeller.Idiameter,-0.28)
PH2 = POW(Helical Pitch/Impeller.Idiameter,-0.53))
PH3 = POW(Helical.wwidth/Impeller.Idiameter,0.33)
PH4 = (Helical.BladeHigh/Impeller.Idiameter)

PH5 = POW(2,0.54)

Helical. Power (150*PHI*PH2*PH3*PH4*PH5

*Liquid.density*62 43*POW(Helical. Speed/60,3)

— - *POW((Impeller.Idiameter*3.2808),5)

*1.3558/(Helical.Reynold*1000*32.2))

Open Window "Resultl.Product8"
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@METHOD= PHSpeed

Propeller.Speed = 106.7229/Impeller.Idiameter

Action Method "ReyPropeller"

@METHOD= PLSpeed

Propeller.Speed = 63.0635/Impeller.Idiameter

Action Method "ReyPropeller"

@METHOD= PPadl

Paddle.wwidth

0.25*Impeller.Idiameter

PX Liquid.viscosity*0.000672
*POW(Paddle.Speed/60,2)
*POW(Impeller.Idiameter*3.2808,2.48)
*POW(Paddle.wwidth*3.2808,0.52)
Paddle Power = PX*113*1.358/(32.2*¥1000))

Open Window "result].product3"

@METHOD=PPropellerl

ppl = 0.32*(Liquid.density*62.43)/32.2
pp2 = POW((Impeller.Idiameter*3.2808),5)
pp3 = POW(Propeller.Speed/60,3
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Propeller.Power = ppl*pp2*pp3*1.3558/1000

Open Window "result].product5"

@METHOD=PPropeller2

ppl = 41*Liquid.viscosity*0.000672/32.2

pp2 POW((Impeller.Idiameter*3 .2808),3)

pp3 POW (Propeller.Speed/60,2)

Propeller.Power ppl*pp2*pp3*1.3558/1000
Open Window "resultl.product5"

(@METHOD= PPropeller3

ppl = 21*Liquid.viscosity*0.0006272/32.2)

pp2 = POW((Impeller.Idiameter*3.2808),5)

pp3 = POW(Propeller.Speed/60,3)

pp4 = POW(POW (Propeller.Speed/60,2)
*Impeller Idiameter*3.2808/32.2,
(2.1-1.8*LOG(Propeller.Reynold))/1.8))

Propeller.Power = ppl*pp2*pp3*pp4*1.3558/1000 0)

Open Window "resultl.product5"

@METHOD= PSixBlade



FlatBladeTurbine. Power

Open Window
@METHOD= PTenBlade

FlatBladeTurbine . Power

Open window
METHOD= ReyAnchor
@ y

Anchor.Reynold

@METHOD= zz1

LiquidA.viscosity

= 23.7*(Liquid.density*62.43)
*POW((FlatBladeTurbine.Speed/60),3)
*POW((Impeller.Idiameter*3.2808),3.91)
*POW((FlatBladeTurbine.wwidth*3.2808),1.09)
*1.3558/(1000*32.2)

"result].product8"

= 23.7*(Liquid.density*62.43)
*POW((FlatBladeTurbine.Speed/60),3)
*POW((Impeller.Idiameter*3.2808),3.91)
*POW((FlatBladeTurbine. wwidth*3.2808),1.09
*(POW(1.67,0.7))*1.3558/(1000%32.2))

"result] product6"

= POW(Impeller.Idiameter,2)*(Anchor.Speed/60)

*(Liquid.density* 1000)/(Liquid.viscosity/1000)

= 2000



Liquid. Type

Product. Type

Liquid.group

Process. Type

Design.method

LiquidA.volumn

Appearance.viscosity

LiquidB.viscosity

LiquidB.volumn

LiquidB.density

LiquidA density

Execute Hypothesis

Liquid_Property. Type

@METHOD= 2z10

LiquidA .viscosity

Impeller.RTratio

Liquid. Type

Appearance.viscosity

= "Nonnewtonian"

= "Immiscible"

- "EMU"

= "Emusion"

= "ByLiquidName"

data.volumn

LiquidA.viscosity

UIAGISII

"LowViscosity"

5000

= 0.35

"Nonnewtonian"

= LiquidA.viscosity
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Liquid_Property. Type = "LowViscosity"
Process. Type = "Blending"
Liquid.group = "BLEN"
Product. Type = "Miscible"
LiquidA.volumn = data.volumn
LiquidB.viscosity =0
LiquidB.volumn | =0
LiquidB.density | =0
LiquidA.density =4

Execute Hypothesis "TCALI1"
Execute Hypothesis "AG17"

@METHOD= 223

LiquidA .viscosity = 8000

Liquid. Type = "Nonnewtonian"
Liquid.group = "Rubber"
Appearance.viscosity = LiquidA.viscosity

Liquid_Property. Type = "MediumViscosity"



128

Process. Type = "Emusion"
Product. Type = "Immiscible"
LiquidA.volumn = data.volumn
LiquidB.viscosity =0
LiquidB.volumn =0
LiquidB.density =0

LiquidA density = 1.25
Execute Hypothesis .‘ "TCAL1"

@METHOD= zz5

LiquidA .viscosity = 500000
Liquid.Type = "Nonnewtonian"
Appearance.viscosity = LiquidA.viscosity
Liquid_Property. Type = "HighViscosity"
Process.Type = "Blending"
Liquid.group ‘ = "SOLUTE"
Product. Type st -= "Miscible"
LiquidA.volumn = data.volumn

LiquidB.viscosity =0
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@PROPERTY=

@PROPERTY=

@PROPERTY=

@PROPERTY=

@PROPERTY=

@PROPERTY=

@PROPERTY=

@PROPERTY=

@PROPERTY=

@PROPERTY=

@PROPERTY=

@PROPERTY=

@PROPERTY=

@PROPERTY=

@PROPERTY=

@PROPERTY=

@PROPERTY=

baffle @TYPE=String
BaffleWidth ~ @TYPE=Float
BladeHigh @TYPE=Float
BladeWidth ~ @TYPE=Float
group @TYPE=String
method @TYPE=String
nax;ne @TYPE=String
namel @TYPE=String
One  @TYPE=String
Pitch  @TYPE=Float
Q @TYPE=Float
Result @TYPE=String
RTratio @ TYPE=Float
Scrip  @TYPE=String
Three @TYPE=String
Two  @TYPE=String

volumn @TYPE=Float

v
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@CLASS=

@CLASS=

@CLASS=

@CLASS=

@CLASS=

@CLASS=

@CLASS=

@CLASS=

@CLASS=

@CLASS=

@CLASS=

@CLASS=

@CLASS=

@CLASS=

@CLASS=

@OBJECT=

@OBJECT=

@OBJECT=

Actual

CalP2

Input

Productl

Product2

Product3

Product4

Product5

Product6

Product7

Product9

ProductL

Real

Reportl

user

AGI0

AGll

AGI2

130



@OBJECT=
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Liquid_Type Process_Type Liquid_Proper.Type Product_Type
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Helical 1 Y Y Y Y Y Y 0.95 0.1*T 0.1*D
2 Y X Y Y 0.9 0.1*T 0.1*D
3 Y Y Y Y 0.95 0.1*T 0.1*D
Propeller 1 Y Y Y Y Y 0.33
Y X Y Y Y 0.33
PitchBladeTurbine 1 Y Y Y Y 033 |0.2*D
2 Y Y Y Y 0.2 0.1*D
3 Y Y Y b ¢ 0.67 0.25*D
- Y Y Y Y 0.67 0.25*D
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AGITATOR_TYPE POWER Tip Speed(ft/min)
ANCHOR PA1=85*(1/Rey)*Pow(C/T,-0.3)*Pow(h/D,0.48)*(p* 1000*Pow(N/60,3)*Pow(D,3) 450
PF1=(1.38/32.2)*(p*62.43)*Pow(N/60,3)*Pow(D*3.2808,3.85)*Pow(b
FLATBLADETURBINE
250 -450

*3.2808,1.23)*(1.3558/1000)

If nb=2:;P=PF1

PF2=(19.4/32.2)*(p*62.43)*Pow(N/60,3)*Pow(D*3.2808,3.85)*Pow(b

*3.2808,1.15)*(1.3558/1000)

PF3=(23.7/32.2)*(p*62.43)*Pow(N/60,3)*Pow(D*3.2808,3.85)*Pow(b

nb=4;P=PF2
*3.2808,1.09)*(1.3558/1000)
PF4=(23.7/32.2)*(p*62.43)*Pow(N/60,3)*Pow(D*3.2808,3.85)*Pow(b
nb=6;P=PF3
*3.2808,1.09)*(1.3558/1000)*Pow(nb/6,0.7)
nb>6;P=PF4
SIMPLE PADDLE 250 - 450

113*vis.*POW(N,2)*POW(D,2.48)*POW(b,0.52)
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*3.2808,1.15)*(1.3558/1000)*POW(sin45,2.5)

AGITATOR _TYPE POWER Tip Speed(ft/min)
PHI1=150*(1/Rey)*Pow(C/D,0.28)*Pow(Pitch/D,Pow(Pitch/D,0.53)*(H/D)*Pow(b/D,0.33)*Pow(
HELICAL
nb,0.54)*p*1000*Pow(N/60,3)*Pow(D,5) 450
PROPELLER PP1=(41/32.2)*vis.*POW(N,2)*POW(D,3) 600 - 900
if Rey <300,P=PP1
Rey > 300 (unbaffle) P11=0.32*(p*POW(N,3)*POW(D,5)/32.2)
P =PP2 P12=(2.1-1.8*log Rey)/1.8
Rey > 300 (baffle) P13=POW(N,2)*D/32.2
P =PP3 PP2=P11*POW(P13,P12)
PP3=(0.32/32.2)*p*POW(N,3)*POW(D,5)
PT1=(1.38/32.2)*(p*62.43)*Pow(N/60,3)*Pow(D*3.2808,3.85)*Pow(b
PITCHBLADETURBINE '
*3.2808,1.23)*(1.3558/1000)*POW(sin45,2.5) 600 - 900
PT2=(19.4/32.2)*(p*62.43)*Pow(N/60,3)*Pow(D*3.2808,3.85)*Pow(b
If nb=2:;P=PT1
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AGITATOR_TYPE

POWER

Tip Speed(ft/min)

nb=4;P=PT2

PT3=(23.7/32.2)*(p*62.43)*Pow(N/60,3)*Pow(D*3.2808,3.85)*Pow(b

*3.2808,1.09)*(1.3558/1000)*POW(sin45,2.5)

nb=6;P=PT3

PT4=(23.7/32.2)*(p*62.43)*Pow(N/60,3)*Pow(D*3.2808,3.85)*Pow(b

*3.2808,1.09)*(1.3558/1000)*Pow(nb/6,0.7)*POW(sin45,2.5)

nb>6;P=PT4
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